Mathematics 8 — 7.2

7.2 - VOLUME OF A PRISM

Understanding Volume:

How many 1 cm cubes would you need to build a solid box with dimensions...
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General Formula for Volume:

Volume = Area of Base x Heiah{' of Prism.

V=AxH
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Example 1: Calculate the volume given the following.
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Volume of a Rectangular Prism Shape of Base: _MMGL
V=AxH
=0xwxH
w
/

Volume of a Triangular Prism Shape of Base: :I:n'gn‘ale.
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Example 2: Find the volume of the following.
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45cm b
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Example 3: Determine the volume of the water in a 12 cm cube if it is % full.

V=Lxw=H \/:%&ﬂ'lx
22412 210 = 126 cm’
= 1328cn

Example 4: The inside of a freezer has a volume of 3.5 m>. What is the volume of the space left in
the freezer after 120 boxes of these frozen treats are placed in it?

& V= LwH
Q
& = 0.16%0.13%0.25
3
= 0.
5 om 25 cm 0052m Vv=35-0.624
¢ 0.25m
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16 cm
0.16wa = 0.62%w’

Assignment: p. 258 #4 — 8 (ac), 9, 10, 13, 15, 17, 19



